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Passage:

Tba:- AN TRt ufear e fapearas ava: Ifuqady Sm fawa foaal

TUSHRUY Hy Rig: Tper FHawfd ¥11 thar 3 TR Rig: FrRIaw sy sowee| 9: d e WA 3| vd Riggmal e SR si@ed |

Farre d @ 37 WA ) B S T O R0 A | Fefa RiggH o STefiigH Seat Mgl TN: Xa: 41arm: T S6d] SRR T SR | 8
gy ST sragq e SR HHM IO S, RiE & AR | A ¥ o ghwf 3f |

Rigt 9T Toaeq- "9, o W | O RISE | & 9 SE@T: U9 | @ HegAad SUery | 99 $A S Tof ARMIGH SRIG: | Haw: 41 FAeRaHE:” 3i | Taq Yl aferd:
SH: AAISHTI |

Q.No: 1 Rig: ¥pg P Fawfd w2

A TUSHRY |
B IeeyA |
G FURWA |
D PR

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

- SeNfafad et ufe@r At s crras ava: Ifuaay Sm fadr foradl

SUSHRUY HA Rig: IPg Mauld W1 el a1 TR Rig: FRens SgaRigy ouaq) §: @ Tidied WAk 3Faq) Ud Riggamar a1 SespiRig: s@dd |

Fearad o RIva: g7 =R 1 S B ok o7 AFT ST | Fiefa RIgE Tor SmhRigH Sl "3/ Ty: a: ram: e STl ThadiIg: Jard-H @ | 9
Ry ST siagd el SAFT HAM o S, 2 & AR | A 3q T ghwf 3f |

Righ affrd Te@ed- "gF, ot o3 | O RRE | & Rga: TEHYF: UG | @i A U | 9 $o S Tof ARFAGH S=IE: | Yad: ¥ FaeRaHia:” 3id| Taq Yl aferd:
S: ddISUTad |

Q.No: 2 R¥g: PRI .......... 3R
A TEURI |

B PapeEH|

c STHIIA |

D TRIHI

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Gobdt:— NI TTeriet ufean uymi fserasr: Sfday 3w fuar firadl
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QUSHRUY Sy Rig: AP Maulad W1 tehar o IR Rig: MRend S RIgH SUaq) 9: @ Iidicd WAERIAH 3Faq) Ud Riggamal e SgsiRig: s@dd |

FHeI I e X R W1 SHHI S T A AR SmTaar] | FiRfa Rig o senfiigr S| el UN: W 4T AT Sl SHEHIRIS]: e SIh | 9
R ST siaeq “sra! SAF HHA o SmeEd:, XE o fara | A 3 7o g gf o

Ridt S waeq- "4, o w3 | @ RSE | & IRga: TSP UG | @i AcgAad ST | 99 $A ST Tof ARMAGH SIS | Had: ¥d HaeRaHia:” 3id| Taq Yl aferd:
Sge: ddIsUTad |

Q.No: 3 &: T ATel THaTARIH S| S F: TPR:?

A <
B e
c gl
D fas)

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

- SN et ufewn usFT fasearas ava: Sfuqany Sm faar foraal

TUSHRE Sy Rig: Ipgr FMadfa W1 tael a7 TR Rig: FRIoE TaRRM Suaql 9 o dided- WaRIFH 3| Ud Riggamar aref sraaiig: s@efd |

Pt o RIvE: 37 TR W1 SFHWI PR T9°: O AR e | Fiefa Rigge 7o SmepfiigH Iei el Us: Re: H1am: o Soadl ST RIS TarH S | &
RS ST sigeq ! SET HHN o0 3mya:, W df Farg | = Aq T ghwfar 3 |

Rt 9T Toaeq- "gF, o W | o RigE! | & aXga: TP YA T4 | HegAaq U | 99 Sl Sl ot ARG SIRIE: | Haa: Y $eaHIa:” 3id | Tad Y@l dfer:
Se: daISHTad |

Q.No: 4 3HWIQ F: o7 ARU1 SFTar?

A gl
B 31k: |
C qrR:|
D TSt

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

Ybe:— SN Teriet Ul Uyt faserasR: Sfidany 3w fuar firaal

SUSHRUY HgA Rig: Ao Mol W1 Uwel a9 w2 Ris: e Sgs R Su=adl §: @ Iy WaRiF sFaq) Td Riggamat aref sSrasfRy: sadq |

Ferrad o R a7 R W1 e S Tk OF AR STaar | Fiefa Rigq o SmnfigH Sedi 3@ Ty: a: uram: e STl PRI Tard-H SiaRiq |
R ST siaed “era! SUS! HHMY O ShHa:, [ df FaRg | = 3 7o ghwfar gfa |

Rt wferd yaaed- g7, o 43 | o Rigg | & a¥qa: TREYA: UG | @ HAA SIUITaH | 9 o Sfiell: ot ARFAGH SI=IE: | Had: Hd $AorRaHia:” 3idl Tad g aferd:
SHS: qaISYTEd |

Q.No: 5 STl - TR FAPH HUH?
= o+ T
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B 3 + g |
C 39 + Il
D T + Il

Correct Ans : A

Subject : Sanskrit Bhasha 02

Passage:

Tbe:— NI TTerit ufear uymi scras R iy S frar fraal

QUSHRUY B Rig: AP Mawla W1 el a1 TR Rig: e g RIgH SuRddql 9: d dicded WaRAHH $Haq) td Riggmai aief sigs iR sradd |

e & Riia: a7 TR W1 BT B ok I AR STaar] | el Rigs 7o SenfigH Iei| 3l U e: ra: e Sl S RIg: TarH 3 | F:
R ST siged era! ST HHY o 3hyd:, M df farg | A o 7o ghsfar 3fa |

Rt ofrd Teraeq- g, oie WA | A RigT | & Siga: TP YR: U9 | | HegAad SUIaH | 99 S S o ARG SI¥IEdr: | Haa: Ya SeeRayie:” 3l Taq g afe:
Seh: ddISYUTEd |

Q.No: 6 §: Righq Ium sr@gq | aEsA wear e

A 3aeq |
B Rigq 1
C SUY |
D |

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Hapa:— NIRRT et ufear wum faperere ava: Sfaqar Im fuwar foradl

SUSHRYY Fy Rig: g Maufa ¥ el a7 TR Rig: FRiens SaRige ou<aq) 9: o arcied WA 3Faq) Ud Riggamar ardf srefig: s@dd |

Ferrad d Ra: a9 IR W1 SHeIq B ok o7 ART A | Fiefd RITE o SMh e Sl "3/ Ty: aa: rar: X" Sl e iIg;: Jard-H $@Riq | 9
gy ST srag o SAET S IO S, =is @ Farg | A I o ghwR gf |

Rt ferd Toaeq- g7, o MO | o RigHAl | & a¥ge: PR U4 | ©f A SO | 99 o ol ot ARG SIRIEE: | Haa: Y $aeaHIa:” 3l Tad Yl aferd:
SHIe: daisyTad |

Q.No: 7 g - s T v ug fpr?

A Yl

B Fefal

C ST

D YIqrH: |

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Tbek:— NI Teriet ufean uymt faserasmR: Sfdary 3w fuar firgal

SUSHRUY T Rig: g Mol W1 twel a9 w2 Ris: FRieie Ses R Su=adl §: @ aidee WaRRiF saq) Td Riggamar aref SrasfRy: sadq |
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 3/51
Page - 3



=i iy MeAe R E B A e O o A A A e A A e e e ™ Y 1 g 0 MW RATWE T T T BOEEEE T AT e R O e A e e W M g 7T EE el i

FeIfad I =G a7 TR W1 W S T O AR STaar | Sl RigE 7o senfigy Serdl| oigl UN: ad: 4Tar: XNy Sgaal IS RIR): Tamd- Sfdiq | 9:
Ry ST siagd e AN HHM o S, e & AR | A 3 o ghwfr 3f |

R 9feTd Toaeq- "IF, o WA | f RigEH! | & aRga: TP YA TG | T AAAq SO | 99 o ol ot ARG SIRIEE: | Haa: WY $AeRaHIa:” 3| Taq Yl aferd:
Sep: qAISUTEd |

Q.No: 8 HdQ: ........ HASTEHIE: |

A i
B W |
C T |
D T |

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Ta:- HeNfRad el ufdan waml isaraeray: Ifaqany SW e ol

Tl aRRAY WA gAYy SA Yaiaur
TG ARIETEHRA FHE ZUS Tl
e aeagrey fafaddrimfds
FRNemR ARafafed T TR ||

Q.No: 9 afau: 3 aRAG W: ?

A e
B qufor
C AT
D A

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

Hapa:— feiforiac TRl Ui Uy fadmearas Neg: Sfadany 3w e fawal

R ARG ST Ay DA

A ARG FHS GUSA T
anfifaoeRy R
TR ARdfdfed EE RGN 11

Q.No: 10 AR & a=fivafa ?

A HR

B U

C [RIBGIEE RIS
D TYRATEA|

Correct Ans : C

Subject : Sanskrit Bhasha 02
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Passage:

Tbd:— NI Teiit ufdan uymt s eardsaRe: IRdaany Sw e firadl

el IR S gAY TA
AT RS T U e
afifasragyey R
FERYYIRRT IRafafed qEi AR |

Q.No: 11 {3y 1 FarRg xR ?

A TR
B 30

C PLESpE
D R IBGICE I

Correct Ans : A

Subject : Sanskrit Bhasha 02

Passage:

Hara:— AN gerist ufdan wa! i earareray: Ifaaany SW e ol

Y ARAIG S gAY TA A
AR PRAESI THal GusH TR
anfiifrsrrgyey R
TR WRafafsd T TR ||

Q.No: 12 =1f¥y: &+ fFRaRRg T ?

A o

B AyerR:

C [RIRGIEERE
D TAvaRH|

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Hapa:— feNferiRaet U=t Ufdean Uyl famedters Neg: Sfadany S far fowal

<] IR ST NP A0 il
AT ARG A GUSA T
anfasraeRy ffadd~mrifdy
FoRINHR ARdfdfed EE RGNV 11

Q.No: 13 &I ARNYH ?

A ST
B i

C gafars
D Eiceta

Correct Ans : B
Subject : Sanskrit Bhasha 02
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Passage:

Tbek:— AN Tenizi ufdean uymi AverdsRe: IRidaaad 3w far fraql

[ ARG S gy v Fafaa

T PRSP el qua Tl
arfryeeTey ffaddamanfdd
FhRemiR URafafyd T AR ||

Q.No: 14 IRITRE F% - A=

A TR
B M+
C TT+S
D T+TE

Correct Ans : D

Subject : Sanskrit Bhasha 02

Passage:

Toba:- ereifiad wenst ufdar usml i rasraa: IfRqany Im fuar gl

I GRAUG S gAUF SAV Fafa
T FRAIGHRA FHEl ZUS et
oty RivdH ey
FERYIRRT IrRafafRd g AR |

QNo: 15 i wereaind: 2

A [EEINEGE
B CERinGut
c Rl

D fardfedq

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 16 'Ted: ---- F7: i I Raawim b ug Igfan?
A THHO

B TSI
C WHHUT:
D THHIOT

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 17 "RiGRMEH GxI--- WA 3 & U Jeg aelal?

A Sufegr
B Sufve:
C Iufug

D SufEE

Correct Ans : B
Subject : Sanskrit Bhasha 02
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Q.No: 18 FHHIUIMN SMER-ae: &:?

A wy:
B HYY:
C faqa:

D Sfgga:

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 19 &: quf: 3{cquuR:?

A £l
B 3
C X
D q

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 20 FHEMW SEN YA Fd: TR Tafe-

A Rrerep: oMUz wERT AR

B iere: et SerEarE vty
c Rigrw: BEF gusafa

D Rieres: Wgﬁamﬁﬁ

Correct Ans : C

Subject : Sanskrit Bhasha 02

| 2l ettt

Q.No: 21 Ud: 9iidh: GEIBUSTaHY T T LA 3 Wea: Wafad O 03 9 'SR Sfd qefd, o= a: i

A TR
B TaRHfE:
C R
D GRTHGS:

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 22 PIEM GparRierbHi g Ihey Hafa?

A T P AUTT T THIRT GI
B Y FRHTOT ST 9T
C T YT YR FalwT quR]

D T Rrem) AgHan] Sareai< du

Correct Ans : A
Subject : Sanskrit Bhasha 02

e T e VN TN g N RENTE BT T T

Q.No: 23 Sl HEM geAHMH, fAERmmy, AT Tes $U JediRg siawsd: vafd -

A P
B i
c e
D Fag

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 24 TG Rieorg U yomedt sifiq
AT
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MMM

A

B reug&ieh-fafd:
C reeT-fafy:

D TIG: WY fadpe:

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 25 GEAHIISICH (fine motor skill) [AHTaT 31 IFHTH Ia0H 34T 2
A & (hopping)

B @'@:F:[ (writing)

C g6Hq

D SRIGUA (climbing)

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 26 HNIRI&URHY fRigfe: AFFIAWAI GuT FHISTH ARV IaTe=un Galfd | 8/ ufafd: S --

A SfTTSaef-HTST (Language across curriculum)

B .. R, ufafer ( TPR approach)

C .Ta. &, ufafd: (CLT approach)

D faFUTIRIGH (Science and Language teaching)

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 27 UIBTRT GIHUREYUT AR

A AférgaaTom

B TTaRE: TR 5% umadiey
c TGS

D T A< WEYH 9 UIST USTq

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 28 FERifEd gy Usd - e s gl gae: s goid | & whiedq 3¢ aHiay Iamom ?
A ofe frufeaiad yaf, aeaw orf: oiftt oRada

B TG FHATAREEY WFEHA
C qIIgy GT-fehar TR wfureata
D IJuAY: Ay HS Ve 7 i o i3 IHAY: Jrau: HMET: Year:

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 29 '@f-sngmarf & Frufiay 2

A aF-RigTamT BT

B TR JoRIgGHH S

c HGARY G- fafteriafaria:
D ST

Correct Ans : C

Subject : Sanskrit Bhasha 02

Dl p

Q.No: 30 VEHET: SFAUGIYIS THIGRIRENTR Teh: UTS: AT | U3 SR Id Riafeh: S g Fidwifa aq vl fawd @ & fo s 6 6 = sig 3o 3fa

3 TS UfST BHET: A Jda-: aq [erdi- | TdUdRS: a4 f& aa?
A SERT: MY (Literal Comprehension)
B AIHIIRA (Metacognition)

&-3-Ud fafdl (K-W-L Strateav)
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R L T

C
D ufcrgmaf: (Reciprocal Strategy )

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 31 =qaRl RIaMI-

A T TS &
el imaw® T §
B
U B R A uRfad SRR
c
UTST 1 BT
D

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 32 3I= Uit TR W HeF W1 & g areflt Iuartt =i §

A Bt
B R B
C foe g
D FEII PT YRR

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 33 U HINI-Rigid & w0 F Ta 91 I &

A TR Ha F Rigor & e S orifat @ s
B @I I U UReA & A § uRfad R

C T B} U DY IR T F TG S Gaa @

D YINT-TATEFT BT UIT §

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 34 UG+ & URH-

A quiaTer J g aee
B Gl 9 BT 9liey
C wiaarelt & g AT

D arefuf arEdt & g =iRY

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 35 fR1&® R G 1 H AP UIS HT e HAT AR dTa B GU Bio Weal & 3 TR ARSI Rl oI 39 RIS JOTH BT T 1 62

A G&H TOTTedt

B ST Jomeit
C SRimfeT HomeRt
D ST Yot

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 36 A= & forga Rien & Il &1 rifewur fban 82
A . ¥, g
B Loy, <3

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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C SR

D W W aeq
Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 37 = & & HINT I I3 &1 2

A ST
B TR
C o
D foregrera T

Correct Ans : C
Subject : Hindi Bhasha 01

e T e VN TN g N RENTE BT T T

Q.No: 38 = T ¥ "3 sied oI § 3R B YR g o &7, 39 T Hed © ?

A fgfaty

B SR Yy
c gty

D o

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 39 1 # § ITEARIES R &1 dpiierd a6d I 82

A BHE B AR R T BT B SQHIl
B OH P gHEel & o FieHr &
c B P AT THET TUT BIOE Bl 5 DA

D BH B BT ¥ R I Fergyf &

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 40 = U TY-UT Sl S drell HIST/HINISH BT A d

A SO T H HReE T IR wad
B U] WY SATHRT I &

o HTST T YorRIe VAT gl B2 qad
D I & e =7t &1 S

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 41 UIGI-a¥g I WYYl T34

A Faa Siadre | & IR & 8l
B U &1 THAH S =
C U5 1 uget 3R offand T g

D 3 Y g # Heg SRl gl
Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 42 U THiaIad # 58 TPR &t gxad gl arfeu?

A wifefd®

B AP TSR

C WP HaBRI

D frert & Hafta

Correct Ans : D

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Subject : Hindi Bhasha 01

Q.No: 43 R F1 T&A Se7d 7 # § et fawra &em 7 22

A g & DI Bl
B s & BRI BT
c forga & iR &1
D T FH & PG BT PN

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 44 Sfee Rugmn fafd &1 fawr faw e 2
A forg geF urbeE A

B o e
C HEumfa Harst
D TR g

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

feer: i U T T Y vgeR U@ T URAl & Fa9 SId SR a1 [awed o 9ae Sifon-

T TR 3 TF 9 [ S w9 H Riowma Hra & 791 95 Wiga faza g fF afe a5 ar SIe oF SR dl 3 T adT W g 91y € 4 siad | Sael $% U S|
AR TS B el § fada piedi # ufe! & wod 31 ot SaTaT e dly U gl § au Siad 9 SareT Y@ WK il ol Tof 9ed 4iHe arll & GF-gill )R e
Tl B 1 37t Ga1 F e Aar-araR g1 § SR o 3 srawnn # 399 S@va & R fol Rifarett St §1 T € g9 39 1d 31w § 3 g e ea & 3R @ @
g2

Tg 4R 6 & e § 5 9 U SAMGR i & R P AR, v 9 ufdF g §, 3 disien i, i dneed vd 3wl 9 fhae 79 8 71 9 URAR & He
IRAR F 90T ¥ e Th-gok A IS §U 99T UR-AIgsd 9 Mg e &1 B «fit & O & Iy Wergyfa § au F s & O 31 99t & §1 5% dRon 9§ s 7 I &
FTg o=l T TssT TIet T SR iR afdd g9 ¥ S g € SR S0 | Al o e, et weft gy A S, 3t gt W efPura w3, O siuet uar 9o f
I § HRHR I TS

Q.No: 45 IUYF T & HUR, TG T R 3l

A dieeEes fiar S gaa

B TR T4 GETa

c U T WIR Higsd 9 93 89 8

D TR, W 9 a8 8, 3 ek fHi, e 0 v $uf € e g en 8

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

& A7 3T T TRiw 3 UgHR Uy U U & 9ed Iid Ik a1 fdded 1 9 Sifoe-

AT 3 T 9 RS S U H Riwmd HRa & 991 95 Wied fazam 8 5 afe @l & ury et o7 g al 3 g 8 aur Swi € Y € 3 Siiad J s o9 we S|
AR T B gl & fdh piedl § ufveT & Tgdl B sy SaTeT Tea TdN W gt & 9 shad | SITet Y@ U gl 81 G 9ed ufie anl % gF-giell W e
STt B 1 7T FaT B T AipR-araR g1 & SR o 3 s # 39 Sy & fem ol Rifgett St §1 T € g9 39 a0 &1 e © 6 3 g e e 6 S| @ @
g2

g gufo &5 & ST § 1 TRI9 Ud $9MER ARl & @R faw AR, 991 @ ufad 81 €, 3 dieieEs fidT, Smifve 9a-w vd §50f 9 s 99 81 §1 379 URaR & ved
IRAR & W07 ¥ o Toh-gak O TS §U 91 UR-Higead ¥ 39 810 o1 A uf el & g & 9 werufa ® aur & el & O &) 9o a1 §1 5 oRon 4 N A A @
P ViR Td WisT Wi @t $iR Wik safa g 9 IO §U € 3R g 111 afe o e, et it 7 et gklly, 31 J& W eRud S41, @ sue! gt Fom
I SHfIHR a1 TR Al

Q.No: 46 IUYT T F IR, &l F A & 59 UHR F A U1 g € 9N A2

A AR
B afrssTo
C =Rt
D satnRR, niseme vd ufd=me
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 11/51
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Correct Ans : D
Subject : Hindi Bhasha 01

Passage:
&= R U U TRiw @Y UeHR 4@ T U & 9ad IR IaR a1 fde o1 9 Pifo-

A TR B TF 9 [ F w0 § P F30 § U 98 Wipd [N 7 fF afg dnil & ur 1! o7 g1 @t 9 G g a1 Iuaeh g iy @ 9 Sad § e $9 ua S
TARI: TS B gfanel & g pledt ¥ ufvet & medl 3T SrieT e Teal I Wi ST § a7 Sia ¥ SUIeT YA W gl §1 G 9ed 4 anit & gyl w e
3Tt &1 37T a1 F g Hiepe-ara) 8 & @R S Y sraen F g9 Swv & R Foh Rifarer St §1 Ty € 99 39 1d @1 08-TaT @ 6 9 78 A wa b <1 @
g7

Tg 3afae &5 7 SIan § 6 T T $AMeR Al % R fha AR, U= 9 T 8 €, 3 e fiar, Il 39w v $wi 9 fha g9 €10 §1 5% uRaRr & 9e
RER & GINUT g fhae Th-giX ¥ 99 §U Y1 WUR-UIgsd ¥ $16g g1d ¢ TR «f el & Ot & ary Tgryfa § aur & Wil & gt &) 941 31 §1 38 Bron Wi F &
P Wil Td ufasT U @ SR Wi safd gk § 3o g § SR § 1 Aft o e, et Fit g T glY, it O R efura S, @ smuet uar Fe
3 § B arT g 31

Q.No: 47 IUYad Tei¥ & SR, AN TRid F & I3t [ & TU H RNiopmad T 3, AfS

A 3 sffqw & Swdndt 76 &) vl
B 3 T & GRIE T8l 36 S|
C 3 ot ¥ gueTa TE1 %§ e
D F T & RIETe ALY ¥§ Upa aut e H Sudi T g g

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:
e i U T T Y vgeR U@ T URAl & Ta9 SId SR e [awe o1 9a9 Sifon-

I TR B T 9 ) F = F R s § aun 95 Wied f[Izan g fF afe dnil o St o7 g dt 3 g1 81 aur Iudnd € ary @ 4 sad § e $w Ui S|
IR TR B giaure § fada piedi # ufe! & wod @1 ot SaTeT e dly U i1 § au Siad 9 SaTeT Y@ U il ol T3 9ed e anll & gF-gill R g
Tl B 1 39 a1 F e Aa-graR g § ok o 3 srawt H 399 3@y & o o Rifaett St §1 € g2 39 91d 391 woa § 3 g A 9 5 3R @ @
g?

Ig T 6 & e § 5 9 U SAMGR Rl & R P AR, Te- 9 ufdd 8§, 9 disiens i, e I vd 3wl 9 fhas 79 8 71 99 URaR & He
IRAR & G0 gg fha Ta-gak ¥ e U aul UR-Tleed 4 3fidE 81 o | 3t 4! & Gl & 1y e yfd § a1 & T8 & T 61 9918 Sl 5 501 dRul 4 T F 3 &
DS iRl Td it w9 ok iR @fd s § 3= g € SR 810 @ Ay o e, et waft g e S, ot gt R efPura S8, @Y Susht gar To B
IH ¥ fsaR | TR A

Q.No: 48 IUde T F STUR Yuid: G HU BT 907 Bifod-

A 9 9 $AMER QI & IR fPae AR, UG 4 9 91 ©, 3 Tieiems fiar, S 3n wd S99 9 fha ged g &1 379 URaR % Jew uRaR & 1w 3
P TH-gH A 9 §U U TR-Higsd  feg e e €

8 TS Td SAFER QT & R fban HYyR, T8~ 9 Uida 81 8, 3 derem fHiar, Qe 36-er Td $91 9 fha 4aa 8d §1 376 URaR & Jew TRaR & 10 &g
e TH-gW A IS §U Y WR-Higsd  Eg 2 8

e TRIg Td $AMGR AR & R fraa AR, U1 9 Ui3E g €, 3 disems fiar, e du-va vd $siged 31d §1 399 URGR & Jew uRaR & tivor /g fan te-
T Y I3 §U Y WR-Higsd 9§ 3e 8 B

b e Td $HMER A & R fhan HR, ve1 @l 9 €, & dieeme R, amiie du wd $uf @ fead waa 81 #1379 uRaR & gewr uRaR & dwr g
oo TH-gaR A IS e 819 3R 7 €1 WR-Aigesd 9 ofieg 8 ¢

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

g R o g T @1 ugaR U@ U U & 99 3R SR a1 faded 31 99 Sifor-

T B TP 9 WS B U H Rbrd HRa & 991 98 Wigd fava § P e @il & urg Sret o gem dl § g g qut Swdrh €5 Iy € 9 Shiad # wae $9 ura S|
gmrga: e Bt glaurel § fada ofedi & ufiel & wedl @1 oitiaT SaTeT e dly U T § ad Siad ¥ SaTeT Y@ WK gl 1 T 9ed 4 e arll & gF-gil R e
o B1 371 a1 & o HraR-ama B ¥ ol o) Tt srawn § 300! 3y & forg feh Rt @ §) a1y @ 12 39 9 9 v © 9 3 98 e 9a e S @ g
g2

I8 U & # S § 1 9 Ud $AMCR 1l & W e AR, 791 9 ufad g1 €, 3 digrers far, amifeee ane ud §91f & e g 81 §1 375 IRaR & qa™
IRAR F 90T ¥ forae Ua-gak & IS §U aUT UR-AgsSd 9 e g &1 A «fiet & it & Iy eyl § aw B s & O &) 9 3 §1 5% oRo § e 7
P idaRIe Td HfsT UIe 9nT SR iR safdd g 9 3T gU § SR g 971 afg omg e, et it gog et S, ot Gt R Ut H¥, O Siuet Ut Jen &
398 F HfBaR R T A

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 12/51
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Q.No: 49 4= & § yfel & 1 91 TAN 82

A TEY T
B FUYRY TN
C g A
D o wu

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

&= R 3T T TR ®Y UgHR U T IRl & 9ed Sfd ek a1 faden &1 9 Sifo-

IR RIS B TP G RT3 & U H RIS Hd ¢ q47 98 Wipd [9%aM ¢ 1 S il & N SIB! o ST ol 9 T S ol START g 1y & 9 Sita 8 <16l $© W S
gmrgd: T @t glawre § fada ofedi & ufiel & wed 31 oiileT SaTeT Fea Tdly U i § auT Siad ¥ SaTeT Y@ U il 1 T Wed e aril & gF-givl w e
3T §1 D! a1 F U Ta=-a1a Bid § SR S B oGl H ! ¢@Hd & for foht Rifgrad gt 81 Wy € O3 39 91 &1 U1 § % 9 98 el 9id {6 Sgia o |
g2

I8 U & # S § % 9 Ud $AMER Al & W e AR, 091 9 ufaa 1 €, 3 digrens &, I an e td §5af & b g 81a §1 3715 IRar & qad
TRAR F dI90T ¥ e TH-gaY § IS gU a1 WR-AgsSd ¥ o s g §1 T 4ot & Ot & 1y Wergyfa § aut B e & O ) 9 ST ) 5 oRoll A R A 4 |
P iTaRel Td ufsT UIe 9nT SR iR safdd i ¥ SO gU § SR g 9T afe g e, et it gog et S, @ Ot W efdura B3, < Siuwt udT Jen
I8 B arT {9 31

Q.No: 50 =1 & & ggrawr "o &1 IR I g &1 wa of qaige-

A @ g

B w@r g w1

C T ey ar o= F v
D e/ S § g

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

& R 13U U TR #Y UgHR U@ U U & 9ed IR Sk a1 fAded o1 99 Fifo-

AT TS Bl TF 9 RS F w9 H R Hd § a91 98 Wipd e § 75 afe dnil & e w1t o7 €l 3 GRS aut STt 1 iy @ 9 Sie § w6l 39 U S|
AR T B glarel & fag pfedt ¥ «fveT & medl @1 SlaT SIGT Teal WY UIe €T ¥ auT SiaT § SUIeT YA U BT ¢ G 9ed Ui anlt & gyl w e
3Tt ¥l 3! HaT & oy Ae-are gid § oIk o &1 ofail & 39! S@HTa & forg ot Rifdrert Sl €1 wry € 99 39 91 &1 1o=iar € % 9 98 7 9 % S=gia @ @rn
??

T Sf &5 & SFa § o5 TRa vd $0MeR @R & W fram neR, we g ufam €10 €, 3 dieeee ’iar, s daewr td $wf 9 fads o 81 1 3% uRaR & wew
IRAR & G0 gg fha -k ¥ 9g §U aUl WIR-FIgssd U odE B o | 9%t 4l & Gl & 1y Teryfd & a1 § 6l & i 1 9918 &al gl 01 dRUI 4 TRl # A &
BIE iRl Td it U AR SR iR dfa s0R0 ¥ 39 §U § SR 810 | A o e, et weft g et S, ot gt W Ut S, Y Ut uar 9o b
I I 3B A TR 31

Q.No: 51 e & § SIH-91 Xree 01 1 fAdH Ueg 82

A SR
B Ezau)l
& Wi
D Fdaa

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

& R U U TR #Y UgeR Uy T Ul & 9ed Sfd IaR a1 faded &1 9 Sifre-

T TR 3 TF I [ & w9 H Riwma HRa & 791 95 Wigd faza g 6 afe dl B u SIet oF g al 3 TR e adT S g 91y 8 4 Siiad | Sae $% W S|
AR TR B gl I fode pieal § ufe! & Tedl B Sl SaTaT Fea Td W il § Y Siad § SaTat Y@ WK il 8| G 9ed 4fid anl & gF-ghrell W g
STl B 1 37t Ga1 & e Aar-graR g1 § SR o 3 srawn # 399 S@ua & R fol Rifgrett St §1 e € g 39 a0 91w © 3 g T o & 3R @ @
g2

Ig T o & ST § 6 e Td $HAMER it & R fba AR, 991 9 ufdE e €, 3 derens fHar, gmifvie 39w Td $wf ¥ fhan 99 g1 €1 3% UReR F e
IRAR & 10T ¥ o Uah-gak S §U 991 WR-Higead ¥ 39g 810 &1 9N« & g & Ay werufa @ aur & el & O ) 9o 3a §| s oRol A e A 4 @

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 13/51
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fE=T o=y M 8RR SR

e s MR R AR T I e T

B T VN TN g Y NERE

Dl p

mmmmwmmﬁﬁﬁmmﬁma@%sﬁmﬁﬁmﬁm IR, ﬁmﬁmﬂ%qﬁ‘sﬁf ﬁajﬁwﬂﬁuﬁaﬁﬁ ¥ Sue! yar 9o

I fpeR T TS

Q.No: 52 IJudad T F AR, Tl $t gl I fdA piedi ¥ uF et & wgel o1 slan

A ST FeT AN I gl 81

B e  wTeT g5 Ui B g

c ET T T W Bl & U7 St & el gg W o 81
D FH T VI Bl § T S O B8 HT I gl 3

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

R ST BT UgHR G T A S qaY IFd IaR ard [aded ST 997 Sifoig-

HIGATG SIGR0T U1 P
IR I =W BT
TR e & U O
YT GO S
e et Hraarel §
af faf-3ic vea §,
g W i &t 7 @d
g et a9 9T 77
IUSIAT i fava v o
ta-Jia a5 S 9 ?
I 1 33T e it dferd
DY I & Fod ?
TP HI G B §
3 U % 99 9,
3R AR 39 T
TS & oa A
TR-GHTS BT UG TF §
qE 4¥, 98 YoI-5 §
forads e gt g3
g, fafid Fy-aa gl

Q.No: 53 ITYR T & 3JER, I B

A forita w-aa
B 1 = S
C R-FAN BT 4
D XU T Fell

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

T HTAI B UgHR U T U F 9 Ifd IaR ard fAded &1 991 SifTe-

YTRIETE, TR UTT &1
3R TR wor @7
T a1 ga1 U@ o

T GO S 31

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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o1 Bt s 2 Lt — T e L =
afe ffey-ik yea 3,
g IR & &t 7 Y
g et < 9T 82
ISl I favd upfa o
Hta-Tie 95 5 q ?
1 7 IoT &l Aol diera
BN Y & Fod ?
TP Aol R Rl §
Ff U 9d q,
SR NI I T
YIgAIE & od 4
R-GATS BT 4G T §

I8 4H, I8 YoI-99 §

foracs T gt ¢
g, =l au-aa g1
Q.No: 54 IUdad Ueli¥ & AR, 3H HT aa G +FT T g
A Ty
B fafy-siw
o R
D yoI-ga

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:
A FToa B UgH Iy T WAl & 9ad Sfud Iaik a1et faded &1 9u $ifere-
HIATG HIEROT U1 P

IR R T FT
ORI &a U S

HITT GE S BT
B! et wrgardt &

e f-3is vea B,
g R i &t 7 W

g 9391 T 37 ©?
IUSIT i fava Ui &I

Ag-Yig 98 S 9 ?
I 1 o1 el e wied

DI Y &S T ?
TP Aol R Bl §

f U F I Y,
SR HITTaT S R

HIgaE & ©d 3
TR-GATS BT U T §

I8 4H, T6 Yo-9 §
fore Tmge gt g%

gudl, g Ty-aa g1
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Q.No: 55 Wi “UH ol HRell gol A1H Fgl * &1 1 & I 7 orf g2

A SNl Hgd

B ST FSTE ST HEAT
C ERGACIN

D W S e 3

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:
= roa Bl UgaR P T UL & 99 IR SR arel [idbed $1 9a -
A SHTERT U7 &1

IR T W B
o Tl &a U o

HRT G o B
B et e &

It Y- U@ &,
e R @ <l 7 W@

g %1 T 97 87
et gt fava ugha B

Jte-Jiw g ST 9 ?
1 7 JoT ddl A dia

B U F §ad ?
TP H3o Wi ol &

yf Uy & §d@ q,
SR AR I R

HETE & B J1
R-GAN BT UG TP §

g 4, 9 YSI-99 §
foraes s gl g8

gadl, faita Fu-aa g1l

Q.No: 56 fHfIREd & I Y W65 HT 9G4 PIoTL-

A e
B T

C frameR
D Uiy

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:
=T HTITY B UgHR U T U S Ao IR IR ard [Ahed BT I97 FIfTe-
UGG SATERT U1 ST
IR T T H1
o Tl ga T S
HRT G o B
B! 5l vraardt &

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

Dl p

16/51
Page - 16



o - v 2, Lt — T e L =
g W i &t 7 Wi

g (3 3 3T 82
STl i R Th B

Jtg-Jte a8 ST 9 ?
I A I3T da (e did

BIY 4T F IO ?
TP TS Wfrd bRt §

3 gy & §q 9,
SR T S g

HETE & d J1
R-GAN B UG TF §

I5 4, TC YI-99 ©
fore T gt g%

g, fafid F4-aa g1

Q.No: 57 F=fifad & | HH-11 990 HRO HRS BT Tel IR0 82

A R 3 W B T5F I AR
B Tig J Higd &1 AR
c o T T & =

D it g B T B

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:
=T HTITY B UGHR I T U F G IR IR dId fAbed BT TG PIfoTg-
UTGATE SM1aR0T UTd H

IR 2R 0T BT
Torer Tl &a U o

HRT GER S B
R et e §

i - ve@ B,
g W/l &t 71 @d

g1 5t ¥ I 82
IS i favd Upfd &1

te-Jiw 8 ST 9 ?
b A I3 aal (e dferd

DY U F T ?
T Al W bR &

f T P §d 9,
SR ART I T

HIGAIE & od 3
TR-FAN B UG TF §

g 3, T8 YSI-90 §
forerr W gt g8

g, faita Fy-aa g1
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Q.No: 58 Iudad ufdadl & 1 & I b < &1 wanT =gt o v 22

A agH
B I
C UG
D g

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:
= roa Bl UgaR P T UL & 99 IR SR arel [idbed $1 9a -
A SHTERT U7 &1

IR T W B
o Tl &a U o

HRT G o B
B et e &

It Y- U@ &,
e R @ <l 7 W@

g %1 T 97 87
et gt fava ugha B

Jte-Jiw g ST 9 ?
1 7 JoT ddl A dia

B U F §ad ?
TP H3o Wi ol &

yf Uy & §d@ q,
SR AR I R

HETE & B J1
R-GAN BT UG TP §

g 4, 9 YSI-99 §
foraes s gl g8

g, fofia qu-aa g1

Q.No: 59 faU U /i & forY U 7eg; T 99 Pifon-

St HaRT a1 | 7 o ma g)-
A Safeafei
B Sfafha
o 3R
D ST

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 60 TS WS Hefl-Hef H U e o1 71 H Afeu?

A Faq ITeVl <7 =Tl
B Faq TR-IJeTR01 I AT
C JGTERYT T4 TR-SSTERVI GHIT & =1feul

D IETRUI Td TR-IEER S & 7T 37 =fgu

Correct Ans : C
Subject : Hindi Bhasha 01

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

Dl p

18/51
Page - 18



P AT iEmEmy M R E B A e O o A A A e A A e e e ™ 7 1 Y e 0 MY WRATAE T T T BEREEE T AT e 0 O e A e e e W N e W R ML AW

Q.No: 61 What should come in place of the question mark (?) in the following question?
2466949
-21x63+7=7

Fafafead uy 8 warad g (?) & RIM W &1 (M 9ige?

-21x63+7=7?

-189
A

-189

-191
B

-191

126
C

126

189
D

189

Correct Ans : A

Subject : Mathematics

Q.No: 62 What should come in place of the question mark (?) in the following question?
2467028
0.2 x 640 + 0.8 x 520 = ?

Fafaied oy & wars 6 (?) $ M R &1 S d1fgd?

0.2 x 640 + 0.8 x 520 = ?

562
A

562

522
B

522

544
c

544

564
D

564

Correct Ans : C

Subject : Mathematics

Q.No: 63 The sum of four consecutive even numbers is 284. What would be the smallest number?
2467170

IR HHITT GH STl 61 TNT 284 B1 Gad Siet G 7 gef?

72
A
72
B 74
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 19/51
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74

68
C

68

66
D

66

Correct Ans : C

Subject : Mathematics

Q.No: 64 If the square root of x is the cube root of y, then the relation between x and vy is:
2467189

& x BT T, y P IHA ©, O x AR y & 9 9y 3

X3=y2
A

xJ:yl

X2=y3
B

x2=y°

X=Yy
o

X=y

x6=y5
D

X6=y5

Correct Ans : A

Subject : Mathematics

Q.No: 65 6 years ago the sum of the age of the Avshesh and Shivam was 30 years. If the ratio of the present age of the Avshesh and Shivam is 1 : 2, then
2467348 what is the present age of the Avshesh in years?

6 af UG a1y SR Ry B 3R T AT 30 99 U7l AR I F SRy TR RiaH F1 3G BT oMU 1 : 2 B, o 3[R P GlHH g aut F 71 82

10
A

10

12
B

12

14
c

14

18
D

18

Correct Ans : C

Subject : Mathematics

Q.No: 66
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 20/51
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2467517 Tt costs Rs. 5400 to fence a square field at 13.50 rs/m. Find the length of the side of the field?

U TR WA I 13.50 TR/H W ATS T H 5400 T T @ AT 81 HEW i ST i weng i it

100 m
A

100

84 m
B

84w

90 m
C

90

45 m
D

45

Correct Ans : A

Subject : Mathematics

Q.No: 67 If the sides of a parallelogram are increased to twice its original lengths, how much will the perimeter of the new parallelogram?
2467583

IS TP THIR TGS B Yoaf B IuS! O da1g F IR B A1 9, o ¢ iR T &1 gRE e g

3 times
A

37T

4 times
B

47T

5 times
C

57T

2 times
D

27T

Correct Ans : D

Subject : Mathematics

Q.No: 68 The width of a rectangular hall is three fourth of its length. If the Area of the floor is 768 m? then what is the
2467655 {ifference between the length and width of the hall?

Tk STEATRT Eie ol TIGTE SUzhT TS hi T ST ol 9fe Y1 ol &ather 768 T2 2 At giet oh oiag 31 Hiers o a7 S 2?7

8m

A
8t
12m

B
124
24 m

C
244
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D 32m

327

Correct Ans : A

Subject : Mathematics

Q.No: 69  Solve the following:

2467828 9x9x9+3x3x3_,
81-27 +9
oo = gor Y
9X9x9+3xX3X3_,
81-27 +9 )
10
A
10
12
B
12
60
c
60
30
D
30

Correct Ans : B

Subject : Mathematics

Q.No: 70 What is the smallest number which when multiplied with 9000 becomes a perfect cube number?

2467942
T8 G4 B e 7 § R 9000 ¥ 701 A R U guf T e & it 82
2
A
2
3
B
3
6
c
6
8
D
8

Correct Ans : B

Subject : Mathematics

(22;"\;"8:27110 Three angles of a quadrilateral are in the ratio 7 : 5 : 9. If the fourth angle measure 150°, find the second

largest angle of the quadrilateral.

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 22/51
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90°
A

90°

70°
B

70°

100°
C

100°

50°
D

50°

Correct Ans : A

Subject : Mathematics

~

B A e A A e e e ™ Y TV g o MW RINAT 2§ T T EEES

U@ IS & < DI BT U 7 - 5 - 9 § 1 fE AT B0 150° B, A Tt
G

Q.No: 72 Kumar belongs to a very poor and conservative family, what teacher can do to help him?

2468451

e e | TR

BT IR &Y §81 DI 1

IR TF 9gd o TR iR Ffeared! uRar & sfarfa smar 8, Rierd Iud) 7eg Fx3 & U a1 a2 Idha 82

A special school and classes may be opened for him

IO o Tw AR wga ok wenail ) Trar o g 3

Special training may be given to the teacher

e & forg e ufkreror fan w1 @ &

He should be treated as a normal pupil

IGP I TP AN B & ©U § aeR a1 siol Ty

He should be sympathized

IUS IR FETIH[A BT SR ey

Correct Ans : C

Subject : Mathematics

Q.No: 73 The ratio of 15.5 hours to 950 minutes is:

2469719

15.5 ¥ ¥ 950 fFe &7 siumd 2:

81:
A

81

93
B

93

85
C

85
D 47 :

87

: 87
: 95

: 95

142

142

23
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47 : 23

Correct Ans : B

Subject : Mathematics

Q.No: 74 gimplify:
2469850 Sxly — 5x2 +3yx? — 332 +x2— y? + 8xy? — 3y?

T B

szy —5x? + 3)’Xl — 3y2 +x?— )’2 + gxyz — 3}’2

8x?y - 4x? - 7y? + 8xy?

A
8x%y - 4x? - 7y? + 8xy?
8xly - 4x? + 7y + 8xy?
B
8x%y - 4x2 + 792 + Sxy?
Bx?y - 4x? - y? + Bxy?
C
8x?y - 4x? - y? + 8xy?
8x2y - 6x2 - 7y? + 8xy?
D

8x%y - 6x2 - 7y? + 8xy?

Correct Ans : A

Subject : Mathematics

Q.No: 75  Find the product of n, 3n!*, 4n!**, 5n’

2469869

0%, 3n!, 4n1¥, 5076 BT IUADA J1A GHIEY]

2009
A

20n#?

60n
B

60n24

40n#
C

40n2

50n4
D

50n24

Correct Ans : B

Subject : Mathematics

QNo: 76  Tf 3 + b= 5 and ab =2 find the value of a2+ b 2
2471939
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G a+b=5 3R ab=278 M a2+ b 2 HTAM JId B

21
A

21

20
B

20

25
C

25

30
D

30

Correct Ans : A

Subject : Mathematics

Q.No: 77 The main goal of mathematics education in school:

2475375 g § oW B & 31 9ET 7 3

Mathematization of child's thinking

8 2 9 e R

Making the child more intelligent
° B o R

Helping the child to secure maximum marks
c S o T 7 2 7% o e

Strengthening child's learning

B T $I I8 Y Torgd S
Correct Ans : A

Subject : Mathematics

Q.No: 78 Ram solves - 4 - 5 = + 9 The error is committed as

2475386
IAGADAG - 4 - 5 = + 9 I 3 UHR & ol §
A Ram needs to practice solving problem of similar type
T B 5 UBR P GUT B §A HI BT AN TR P SMARTH §
Ram has not understood the concept of multiplication of integers
B T quifenl & U Y S[GUROT $ gl THS IR B
Ram is careless
c T TIRAE §

Ram is not clear about the concept of addition of in integers.

D T quite! & AN Y SraUReT F SR F Wy T 2
Correct Ans : D

Subject : Mathematics

Q.No: 79  Which is the first stage of curriculum development?

2475591
TTeTerf T T Wy TR0 S AR ?
Planning
A -
Formulation of objective
8 Jed &I (e
c Selection and organization of appropriate learning material

Iuged e qrEl 61 79 SR Ted
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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D Selection of suitable learning experiences
JUgH G F Sigyal BT T
Correct Ans : B

Subject : Mathematics

Q.No: 80 Evaluation is closely related with

2475616

Tedic Bl fide Jdy §
A Content

Evaluation strategies
B e— .
c Objectives
D Process of learning

Correct Ans : D

Subject : Mathematics

Q.No: 81 Following is a problem from text book of class V “There are 4 poles of measure 105 cm, 215 cm, 150 cm and 235 cm respectively. If they have to
2476019 be cut into pieces of equal length, what is the maximum length of each piece?” This question is asked to

FeTV & U0 TWS § U6 9] Fufifdd § 30 4 @™ § REet 71 $AsE 105 9, 215 9, 150 I &R 235 I 71 Al SR THA O & gohel § B
ST, df UAS ghe Bl S darg fha-l Srfi? U8 gaTd U1 Wil &

give practice of word problems based on HCF and LCM

A T 3R T R iR Wss Srel 1 S S
test knowledge of factors and multiples
° PR SR T & T 1 e 5 R
check the skill of finding HCF
c i ) s e 9 i B
D enhance problem solving skills using learnt concepts
et 7€ srquRonaiT BT ST R THT YA & BRI Bl M & [T

Correct Ans : D

Subject : Mathematics

Q.No: 82 Which two signs and numbers should be interchanged in the following equation to make it correct?

2479441
9+8x6+12-1=24
Fafifad qHien S 8 H37 & foe 6 &) =gl a1 domel S 3o & gaar S Aie?
9+8x6+12-1=24
+and x, 1 and 12

A
+ 3R x,18R12
+and-,8and 1

B
+3R-,88R1
= and %, 8 and 12

C
+ IR x, 8 R 12
+~and-,9and 1

D

+3R-, 981
Correct Ans : C

Subject : Mathematics
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Operant conditioning is different from respondent conditioning in which of the following points
fafafea & § fvw g W darae Sl ufaar deifm § e §2
In OC reinforcement is given after the response is made

oC & UG 37 & a1 Geelawur foran i §

In operant conditioning, behaviour is controlled by central nervous system

e DS H, TSR Bt T o grI e giar g

A chain of responses is needed for, shaping the behaviour (learning)

FGER (YE) B PR 7 F e wfafraret #t v Jaar 3t sraxgewsd gl &

All of the given option

feu gu ot fowea

Correct Ans : D

Subject : Mathematics

Q.No: 84
2481751

D

Understanding the principles of development of a child helps a teacher in
W 7 & fasra & Rygi &1 gngm & e $1 weg fied ©

identifying the social status of the learner

el @ grfere R 31 vgam T #

identifying the economic background of the learner

Rrarlf 9 anffes geyfi 1 T H |

rationalizing why the learner ought to be taught
frreimTa s o e &5t ¥ wgran < @iy

effectively catering to the different learning styles of learners

faftrs Wirem &t et Y vl 71§ W s A

Correct Ans : D

Subject : Mathematics

Q.No: 85
2482496

D

To make classroom teaching more effective every teacher should

e R0 B 34w F9H F RT vdS Rigrd o1 Aige

discuss with colleagues

TeHial & A T B

analyze responses of students

B Pt Hfafsparsil BT fazeryo $3

keep him/herself abreast of development in the area in his/her subject
3T fawa 7 8 & fara I G2 &1 saa 6

publish his/her writings

FIP A DI UBIRIT PY

Correct Ans : B

Subject : Mathematics

Q.No: 86
2482689

D

Merits of project method are :
R fafy & o §:
This is based on various psychological laws and principles.

g faftra Al s o Risfdl W smenfa 81

It develops self-confidence and self-discipline among the students
Tg B H STAfIYN SR S-S ISR Fal §

It provides ample scope for training.

Tg uiiem & R wafe o uer e g
All of the given option
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fag o o fiwe
Correct Ans : D

Subject : Mathematics

Q.No: 87 Demerits of project method are

2482691

ufvaier Y & 9 §

It takes more time.
A SO i T T B

The knowledge is not acquired in a sequential and systematic manner
° M i SR AR T I Siffd T e T g1

It is very difficult to complete the whole syllabus by the use of this method.
C

T USR F ST ¥ Y UIGTHH Y T AT 954 DioA o

All of the given option
D

few o i fowen
Correct Ans : D

Subject : Mathematics

Q.No: 88 When the lesson is divided into small units , then the comprehensive questions should be asked

2482774
e UI6 &1 Bict gaigdl & Ruiisia faman T 8, 99 e Uy g W 9y
At the start of each unit
A s g e
At the end of each unit
° e e 5 ok
At the end of all the units
¢ o gl 5 i A

D At any stage
frddt i R

Correct Ans : D

Subject : Mathematics

Q.No: 89 Motivation is the process of initiating and correcting activities of the organism

2482832
RN Sfiq @1 TR B T B 3R el B B uicea 8
A Supplying
amgft
B Sustaining
Surveying
C
Y &t A9
D Suspending
fifea

Correct Ans : B

Subject : Mathematics

Q.No: 90 16 men can complete a work in 27 days working 10 hours a day. How many men will complete the same work in 30 days working 8 hours a day?

2483872 16 G3Y U {7 H 10 9¢ 1 &= gU 27 ol H o1 QU 3% UFd g1 fhan e 0 37 7 8 92 31 v 30 &l # 9t o &1 qu s3?

A 18 men
18 T3
B 20 men
20 939
c 22 men
22 339
D 25 men
25 4oy

Correct Ans : A
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Subject : Mathematics

Q.No: 91 Meeting the needs of the present without compromising the ability of future generation to meet their own needs is called:
2469353

Ui &F Nifedi Y oo SRERT! BT T B DY & Y FHIN BT o1 THH BT SReadl 1 G HIAT Hoardl o

Biodiversity
A

ST fafaeran

Ecological succession
B

Rkt sgmd

Sustainable development
C

e faerg

Target distribution
D

&g faa=ur
Correct Ans : C

Subject : Environmental Study

Q.No: 92 Jawar and Bajra grow in the area that have

2469748
SER Td SSRT A #§ gl P 8-
High moisture
A
I
Little moisture
B
& T
No moisture
C
T & eurRIR
Average moisture
D

3frga Tt

Correct Ans : B

Subject : Environmental Study

Q.No: 93 Environment includes is:

2470025
TafaRr & i -
Atmosphere
A
qrareRo
Lithosphere
B
RS d
C Hydrosphere
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 29/51
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Atmosphere, Lithosphere and Hydrosphere

AR, RGHST AR Sarsd
Correct Ans : D

Subject : Environmental Study

Q.No: 94 In the rocket and Jet engines H>O: is a source of?
2470205

ﬁ%ﬁ%ﬁﬁHgOg Wﬁﬁ‘f%‘

(6}
A
0O:
Antioxidant
B
Teiifrse
Fuel
C
A
Stabilizer
D
VAR

Correct Ans : A

Subject : Environmental Study

Q.No: 95 Which of the following is not included in affective aspect?
2470238

1 & | P s gy § it TE 8-

Receiving

AGUN BT

Organization

RiORE |

Valuing

kSl

Analysis

farzawor

Correct Ans : D

Subject : Environmental Study

e T e VN TN g N RENTE BT T T

Q.No: 96 The most effective strategy for engaging learners in EVsis .

2470366

quiaRur reqeH # Ruenffal w1 xnfird B & g qed gyt AT _ )

Narrative

YT
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B Reading the textbook

UIGTYRI® YT

Explanation by the teacher
C

fRigrp g1 are

Demonstration in the classroom
D

P & we

Correct Ans : A

Subject : Environmental Study

Q.No: 97 Ritu while teaching students of class-V, emphasised on the problem created by pollution. Which of the following teaching methods will be most
2470413 appropriate to achieve the objective?

kg 7 uidl e & faeniidT &1 Tgrd awa UGyl ¥ Sd SN R 99 QA | 959 U e & fog FafaRed § § o @ Rigor fafy g9 sugea grie

Lecture and talk by an expert

A
ot fadorr g e IR A
Conduct field trip
B
wics fou smiifora Fem
Arrange an audio-visual documentary for class and after watching documentary tell students to discuss among them
C
T & RIT T TXU-4T TOT B TGRSR FaRA &G & 918 BFE 31 I% o 791 o3 & R ag
Make a poster presentation about pollution in class
D

F&T & TN 5 TR F U URe TRGAIRUT HY
Correct Ans : C

Subject : Environmental Study

Q.No: 98 Select from the following a list of animals which live in our houses.
2470606

Fufafad # 9 39 THa @t gEt g4 o §AR Wi H | 8

Spider, rat, cockroach, lizard

A
T, a1, fermgr, fuwet
Spider, lizard, cockroach, pigeon
B
o), fume, faaag], TR
Cockroach, ant, rat, bat
C
fererargy, i, e, =S
Rat, spider, lizard, squirrel
D

Correct Ans : A

Subject : Environmental Study

Q.No: 99
2470697
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Yarrows was designed in 1913 by who is renowned for having designed the North & South Blocks of Delhi's
Secretariat buildings.

IR BT 1913 § TR fEe foar T o, S fewdl & Wfarerd Herl & IR SR SR il Bl fEorg S & o g B
Sir Herbert Baker
A
W FAHE TR
Sir Arthur Cotton
B
W 3R BieT
Sir Thomas Roe
C
WU A
Sir William Hawkins
D

W faferm gife—w

Correct Ans : A

Subject : Environmental Study

Q.No: 100 Air pollutants like smoke and sulphur oxides started to build-up in the atmosphere, due to which, the white fog accumulated over the city turned
2472153 black, forming which type of fog with almost zero visibility in 1952

IR UEHF O 43T SR Yeh SfISS aIaRv B g9 T, ford HRUI, e F FHUR STHT gl Yibe H1eT HIall g1 74T, R 1952 F @ T =ad aret
DG & T

pea-soup smog

A
ot gu s
brown smog
B
YW
foggy smog
C
yforer T
reddish -brown smog
D

-2 T
Correct Ans : A

Subject : Environmental Study

Q.No: 101 Which one is not a method for water conservation

2472248
T TR F P AR T
bamboo dripping irrigation system
A
79 T arent RiarS womeht
Groundwater extraction
B
o o
kunds
C
L&Al
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D Avoiding water wastage

et B el S g

Correct Ans : B

Subject : Environmental Study

Q.No: 102 Which is the first National Park established in India?
2472446

Wl # WG Tl P I D A §?

Velvadna National Park
A

JeTaE AP FEA

Periyar National Park
B

AR T STH

Bandipur National Park
C

SR AL T

Corbett National Park
D

Plide TET IAA
Correct Ans : D

Subject : Environmental Study

e T e VN TN g N RENTE BT T T

ladeiehed TN S0

e

Q.No: 103 When one wants to take a representative sample for the study of households in India, which of the following will be the least cost effective

2472583 gampling method?

YR § URART & Sierae & e o wiafiy T o e 8, 3 F9 @ 8 999 &9 ara vt A fafy o 9 el

Level objective sampling

A

W g

Simple objective sampling
B

YRV FEgea T

Objective sampling
C

T QT

Multilevel herd sampling
D

TEENA GOS T
Correct Ans : D

Subject : Environmental Study

Q.No: 104 Sundari trees provide durable hard timber which are found in

2473163
IR & U5 *F1S FOR TPl YeH Fd © o
Godavari and the Kaveri delta

A
gl IR T Se

B Ganga Brahmaputra delta
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T SR Sl

Krishna delta

HU ST
The Mahanadi delta

TR ST
Correct Ans : B

Subject : Environmental Study

Q.No: 105 DRDO stands for?

2473962

&.eR. €3, (DRDO) &1 quf & 1 82

Defence Research and Development Organisation
A

5tu ad ts Soauiic smfsaeA

Defensive Remote and Defence Output
B

ety fafie s fsth smsege

Defence Research and Dive Organisations
C

5% o4 s Sq siEaRA

Defence Research and Development Outsourcing
D

g frad T Sqaudc sieeaRfT
Correct Ans : A

Subject : Environmental Study

Q.No: 106 What is the total cost of the Gaganyaan programme?
2474000

TAF SRIGH 3 $a TR fhal 82
9023 crore

9023 TS

100 crore

100 TS

6000 crore

6000 RS
8023 crore

8023 TS

Correct Ans : A

Subject : Environmental Study

Q.No: 107 India successfully test-fired supersonic cruise missile off the Odisha coast recently.

2474042

e T e VN TN g N RENTE BT T T

URA 7 319 & & SNfSxn qe ¥ g o fRgd &1 9wa uiaor
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Brahmos

A

SR

Prithvi III
B

Tt 111

Dhanush
C

LG

Prithvi II
D

Tt 11

Correct Ans : A

Subject : Environmental Study

Q.No: 108 With respect to India’s Nuclear Programme, which of the following resources are available in abundance in India?
2474187

YRA & WA FEHA F Tay &, il § 9 o a1 GareF YR & vER a6 § Suas 82

Uranium
A

pusie

Thorium
B

i

Both Uranium and Thorium
C

R 3R i G

Neither Uranium nor Thorium
D

7 8 R 3R T 6 difvam
Correct Ans : B

Subject : Environmental Study

Q.No: 109 Under which of the following initiatives the development and deployment of low cost satellites was addressed by the United Nations Office for
2474204 Qyter Space Affairs?

I Sfaler AT & o wge 1y Frfa gR1 fw & § 59 uga & ded BF ad a1d U & e ofR QAT 3 S foram ma are

Basic Space Technology Initiative

A

e siaRer T vea

Russian Space Initiative
B

A fafer uga

General Universe Initiative
C

SIS ERICE

Milkyway galaxy initiative
D

ST SHTHRART U

Correct Ans : A
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Subject : Environmental Study

Q.No: 110 Which of the following is India’s first major hydro electric power station?

2475931
e # ¥ SN YR BT U5l THE o9 [480q SdTe 5% (TTES! SAREE TR WIA) 82
Shivanasamudra Hydroelectric Power plant
A
R TRk U Wie
Bansagar Hydroelectric Power plant
B
TURIR §R RGeS TR @ie
Loktak Hydro Electric Power plant
C
AP TGl SAlded TR @ie
Hirakud Hydro Electric Power plant
D

Correct Ans : A

Subject : Environmental Study

Q.No: 111 In which state is Chhau dance the major dance form other than West Bengal and Odisha?

2476453
U3 S SR IS F ST o e o9 ® B T W T 82
Uttar Pradesh
A
IR U™
Bihar
B
Bihar
Andhra Pradesh
C
iy T
Assam
D
e

Correct Ans : B

Subject : Environmental Study

Q.No: 112 Which cricketer has scored the most number of centuries in a single world cup tournament?

2476542
& fay $U gAffe & 59 fhdcy 7 999 e wa® 1 B2
Sachin Tendulkar
A
e dgaaY
Rohit Sharma
B
RUERE
C Kumar Sangakara
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David Warner

Sfas arik

Correct Ans : B

Subject : Environmental Study

Q.No: 113 Who out of the following is NOT a boxer?

2476575
T YR qaharal 1 AIBA g1 fay St # w@uf uae sfir?
Sachin Singh
A
g Rie
Thokchom Nanao Singh
B
i e e
Vikash Kishan
C
o frem
Saurav Ghoshal
D

IRa B

Correct Ans : D

Subject : Environmental Study

Q.No: 114 Who did Muhammad Ali beat in the "Rumble in the Jungle"?
2476579

"¥Ee 3 € ST | Hewg 3t A oy grn ur?

Ken Norton
A
P A
George Foreman
B
Sifef BRAT
Joe Frazier
C
o SRR
Larry Holmes
D

o g

Correct Ans : B

Subject : Environmental Study

Q.No: 115 Which one of the following is not a protected area?
2477799

frafaiea § 3 oF @ Wha &7 81 82
Wildlife Sanctuary

A
FSg SR

B Zoological Park
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Saioepd UIh

National Park

P A

Biosphere Reserve

TARPIR frord

Correct Ans : B

Subject : Environmental Study

Q.No: 116 Which of the following is a cause of Episodic Acidification?

2477873
Frafifed & 3 o1 RRifss srdiiexu 31 SR &2
High altitude
A
= SR
Low temperature
B
Y dIaE
Melting Snow
(o]
e arcft a6
Low levels of Nitrogen Oxide
D

oA SifEs & AF 'R

Correct Ans : C

Subject : Environmental Study

Q.No: 117 Charts can be -
2478633
1.Pictorial
2.Tabular
3.Flow

Choose the correct code -

= B b © -
1.foamg (Uediiver)
2 TIRIET T (STER)
3.9@Tg (Treil)

T IS g -

Only 1 and 2

Faa 1 3R 2
Only 2 and 3

Faa 2 R 3
Only 1 and 3

Pad 18R 3

4 D mman
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D 1, £anu >

1,23R3
Correct Ans : D

Subject : Environmental Study

ladeiehed TN S0

e

Q.No: 118 Edgar Dale arranged the learning experiences on a continuum of ‘directness to indirectness’ which has correlation with continuum of

2478728 concreteness to abstract’. He called it a

TSR 30 3 W F UG B 'SIced T year & fRavdl R safyd faan, e 'Swieay ¢ tskde @ ROl & 1y Iay 81 39 58 gamn

Cone of Experiences

A

Sl BT AT

Circle of Experiences
B

SUA! BT T

Sphere of Experiences
C

3Ya T &

Square of Experiences
D

Sl &1 i
Correct Ans : A

Subject : Environmental Study

Q.No: 119 refers to bringing meaning to the collected data through interpretation, analysis and reflection.
2478732

1 3 ara, fawamur 3R ufafde & qream ¥ wehixd e & of @ 71

Evaluation
A

Tedicp

Assessment
B

HHTT

Measurement
C

aa

Tests
D

TRiam

Correct Ans : A

Subject : Environmental Study

Q.No: 120 The assessment wherein the purpose is comparing student’s acquired performance with the desired performance is known as which of the

2478742 following?

g HHe O 3820 B & Sifvla Tl 3 aifsd wexi &y ga 3 w1 8, Rufifa & 9 5 wer o 22

Informal Assessment

3TN BT

Nhinrkiva Accaccmant
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B VUJTLLIVE MADDTIDIICIIL

TR e
Subjective Assessment
(o}
Ry see
Criterion-referenced
D

Ags-uehia
Correct Ans : C

Subject : Environmental Study

Q.No: 121 Meaning of growth is -

2473548

e e g -

Growth of external and internal organs
A

iR ud e o A i

Growth of external organs only
B

o o T B g

Growth internal organs only
C

Faq sfiaie oitif B g

Physical and mental growth
D

RS T AR g
Correct Ans : A

Subject : Child Developement

Q.No: 122 Law of inheritance in which children exhibit opposite traits from their parents-
2473720

S 1 I8 o, o s S0 AT - a1 & ok o weidid e § -

Law of regression

A
AR ST FAa|
Law of resemblance
B
T &1 Faw
Law of variation
C
faftrran &1 frgw
Law of transmission of acquired traits
D

Sifofa TN & Spau &
Correct Ans : A

Subject : Child Developement

Q.No: 123 The main objective of education according to Acharya Vinoba Bhave is to
2474577
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Srard faHieT ¥ & SER fRien &1 Jor S8

Make a students self-dependent within the shortest possible time.

A
SH Y A AT T B P AR T
Make students able to benefit from the daily life experiences
B
B B 3R Sitae & orgudt I a1y SO A W AT
Make a clear discrimination between learning and doing
C
HforTH 3R 3T & <t qUE SR BT Ul B
None of the given options
D

fou M Reedi A Q& 9
Correct Ans : B

Subject : Child Developement

Q.No: 124 On average, school children need about calories per day.
2474647

el g B vfafe sieaT @ PRI P SIRIHA Gl 7

1200
A

1200

1800
B

1800

2400
C

2400

3000
D

3000

Correct Ans : C

Subject : Child Developement

Q.No: 125 What have been the most successful and popular technique for integrating exceptional children into general classroom?
2475359

IR Fel F SR T B TP IPd PR F Y, T9 Gat AR Aphi doie w1 3

Cooperative learning

A
Fear e
peer directed learning
B
el gr1 PSR e
Self-directed learning
C
-f R e
teacher directed learning
D

g R Rig

Correct Ans : A

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 41/51
Page - 41



P AT TEmEmy M o B A e O o A A A e A A e e e ™ 7 1 Y e 0 MY WRATAE T T T BEREEE T AT e 0 O e A e e e W N e W R ML AW

Subject : Child Developement

Q.No: 126 For children with level of mental retardation would support of functional academics be most appropriate?

2475446
1 TR B! AFRS fGaiTar ar s & U Brafere fawm B! qemd Jod Sugead gm?
Mild
A
G52
Moderate
B
HHUH
Severe/profound
C
TR/ Te
all of the given options
D

few o wmi fawe

Correct Ans : B

Subject : Child Developement

Q.No: 127 Humanistic education focuses on

2476230
BIRERIC AN AR e A R
arts and social sciences
A
Fel SR TR
only science
B
e fam
only arts
C
FHad el
social and political science
D

IR SiR i R

Correct Ans : A

Subject : Child Developement

Q.No: 128 Beyond rote learning, a teacher should make the class more____
2476926

1. Realistic

2. Meaningful

Choose the correct code

e Y A W, T g 1 el Bl AR ifie ST =R -
1. FUrfard

2. 9F

TE IS I -

A 1 only
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Haa 1

2 only
B
Faa 2
Both 1 and 2
(o}
gFf 1 3R 2
Neither 1 nor 2
D

a1 aRTE 2

Correct Ans : C

Subject : Child Developement

ladeiehed TN S0

e

Q.No: 129 According to , human beings are motivated to act in order to fulfil their various physiological needs, emotional needs and cognitive

2476948 eeds.

& AR, A7 St [l IR saxamaisll, SaaTae axambals SR TS AaRaHdIs $1 G $31 $ ¢ o1 F39 & forg IRd g g1

Need theory

A
ARl Rgid (e )
Attachment theory
B
gaus gl (sidafie @)
Theory of Psychosocial Development
C
FArETEI e o1 Righd (W 3t SRPIET Saaurc)
Social Learning Theory
D

i g Rigia (S afr )

Correct Ans : A

Subject : Child Developement

Q.No: 130 A one-year-old child cannot be made to write because

2476989

Ueh Il &1 e forg el gebdll aliich

He is not matured enough
A

g v Ruw e §

He is not motivated enough
B

9% 7o IRa T ¥

He is not aspired enough
C

7 e T e ©

He is not desirous enough
D

95 Ui T8 e X §

Correct Ans : A

Subject : Child Developement
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Q.No: 131 ___ can be best understood as the degree and location of what we believe the causes that determine the events in our life.

2477076
1 AR St 7 weell 1 Feifa B3 art PRl R Ay T 31 {5 iR ®F & w0 F To0 38! IRe W IHS S I o

Level of aspiration
A

SHTeBiE T TR

Locus of control
B

oo 1 famguy

Level of attitude
Cc

T BT TR

Locus of motivation
D

SRR BT faguy

Correct Ans : B

Subject : Child Developement

Q.No: 132 Which of the following is NOT an act of juvenile delinquency?

2477679

Frofied & 3 S FR ey &1 wrf 7 §2

S/he tresspasses on someone else’s private property.
A

g frelt 3R 1 okt WaRl W sifdierar wea/aedt &

S/he skips school.
B

98 T § I ST/ 3

S/he goes to movie-theatres with her/his friends.
C

7 AT I S IR RATTR Siar/ i g1

S/he vandalises school-property
D

9% WBa-4uiy § SIS Hedl/Het §
Correct Ans : C

Subject : Child Developement

Q.No: 133 Inclusion has the potential to and among the fellow individuals.
2478101
FHEARH H 9l sl & i 3R P & B
Reduce fear, increase compassion
A
ReA A, Tl faeRa
Reduce fear, reduce compassion
B
NREAFH , HeasA
Increase fear, increase compassion
C
RagH , T ok
D Increase fear, reduce compassion
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R TgM, T 71 B

Correct Ans : A

Subject : Child Developement

Q.No: 134 Children above

2478153 e, as per RTE Act, 2009.
IRATE SififTem, 2000 F IR
5
A
5
6
B
6
8
C
8
9
D
9

Correct Ans : B

Subject : Child Developement

Q.No: 135 A child with a cognitive disability may have difficulties in -

2478222

i)Understanding of spoken language

ii)Understanding of written language

iii)Expression of spoken language
iv)Expression of written language

Choose the correct code

Th HYHIHD SR die & |
i) Sel ST aTell WToT &t FwE

ii) ffea v 3t wH

iii) Selt S areft W1 @ it
iv) foRaa w1 &1 siivieafd
TRl DI g

i) and ii) only

i) @i ii) Pad

i) and iii) only

i) 3R iii) Faa

ii) and iv) only

ii) 3R iv) $ad

i), ii), iii) and iv)

i), ii), iii) R iv)

e T e VN TN g N RENTE BT T T

T gy 1 udhdt gl

Correct Ans : D

Subject : Child Developement
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Q.No: 136 The teacher finds that a child is having problems even in naming 5 fruits, vegetables or plants. Which of the following is/are the correct step/s
2478293 e may take?

i)The child should be properly assessed by a qualified psychologist
ii)The child should be properly assessed by a teacher who is specially trained to take care of mentally challenged children

Choose the correct code

g a8 §8@d § % 5 wal, afewl a1 il & AW @q § ot ' 9= 31 90 71 %) 71 98 Fofifed § 4 o9 91/3 el ed 3ol Iadl 8/8?
i) 97 TRTCRE GRT 9 T SRid YedidH [ ST a1fey
i) TR T Y s s= 3 Tau H o ke v v & uiiféa Riew gr1 5= 31 3fa geaiee G o it

el % I -

i) only
A

i) Faq

ii) only
B

i) Had

both i) and ii)
c

i) 3R i) SFF

Neither i) nor ii)
D

adri) A8 i)
Correct Ans : C

Subject : Child Developement

Q.No: 137 Which of the following statement defines the correct meaning of Heredity during the development of a child?
2478858

fafied # 9 oF 9 o3 a2 & faer § sgaRiear & T8t of &1 aRefta swar 82

A child resembles his sisters, brothers, parents, grandparents etc.

A
T T R e, IS, Hiel- e, arei-anet onf S far 31
A child behaviour is very similar to his or her peer group.
B
T T= &I agR I W] & GHE & GUM & il g
A child attitude towards a particular type of problem.
C
it iy YR &1 9w & Uf 9o B 2R
A child responding better to a particular type of technology.
D

& {99 UoR 91 dao-ie & e sgar ufafsear 7 arer s=m

Correct Ans : A

Subject : Child Developement

Q.No: 138 According to Kohlberg’s level, conformity to social rules remains important to the individual at
2479257

Fiae & YAl & AR, AT g8l ST sFueH fd F i Agayyl war &

A Preconventional level
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Conventional level

B
TRURS &R
Ordinary level
C
YR TR
Principled level
D

Jgifod 'R
Correct Ans : B

Subject : Child Developement

Q.No: 139 Which of the following statements given by Rabindra Nath Tagore is not correct regarding progressive education?
2479533

i 1y R Ry e man Pafif@a § @ S 91 sy wiiasia wfden & dey § wgl 12 82

Lack of education as a major hurdle that thwarted India's progress.

A
T8 BT 31H1T T TST AT P T A RO WRA 1 Wil Y e foam)
He defended the nationwide education system.
B
IR gt gt yomeh @1 s
Nationwide education makes space for development of uniqueness, freedom and knowledge in natural settings.
c
i At & ik, T R 39 & e F g ayerd fRien =M e |
He defended the contemporary education system.
D

IR DTl Rrer yorreh @1 =g

Correct Ans : D

Subject : Child Developement

Q.No: 140 Thurston subdivided which of the following abilities into two parts?

2479708
R 3 Fafaiad & & 5w emar a1 &1 urit # faviioa foean 82
Verbal meaning ability

A
-+ et (qsiet AT Qe
Memory ability

B
T T (AN TR
Numeric ability

C
e Qe (<R Thafid)
Reasoning ability

D

& drar (S i)

Correct Ans : D

Subject : Child Developement

Q.No: 141 Who among the following developed the Primary Mental Ability Test to measure all the factors which constitute Ability?
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2479840
Frafiiea ® 9 9 dradl & SRS &1 9id $ fod Wil AFRe dradre (6. T, T.) &1 06 e fasia fear?

L.L. Thurstone

A
LEAC AL
Charles Spearman
B
el whtaedT
J.P Guilford
C
.41, Frawis
Robert Sternberg
D

Mg wa
Correct Ans : A

Subject : Child Developement

Q.No: 142 is an individual's preference for engaging in one or more specific activities relative to others.
2479849

o1 o foredt safd grr gt fomarall ot sren fanddt wep oral ue & oifdies faRiw forarett & W &t oifde o v@m @t oo 9 31

Values
A
T4
Interest
B
Sl
Intelligence
C
e
Personality
D

ieid

Correct Ans : B

Subject : Child Developement

Q.No: 143 __ areinnate tendencies found in all members of a species that direct behavior in predictable ways.
2479951

& e & ol gewt & Ui 9 arelt sEed ugdofoai € S sraeR a1 yafgia dliet 3 MERE St 8

Need
A
SHaID T
Instinct
B
o vt
Want
C
ed
Affiliation
D
RiCCE|
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Correct Ans : B

Subject : Child Developement

Q.No: 144 Which of the following is not the correct role of teacher in emotional development?

2480086

s e § Riee @t Fefared § 3 o9 @ yffier adt 7@ 82

Teacher should take care of nutrition of a child.
A

g 1 S & U1 BT & @1 =TI

Teachers should not disclose private issue about a child to their parents.
B

et &1 9= & Aral-far & a2 & Foft gef o1 garn T8 o1 9gul

Teacher should try to make the activities organised by the school creative, lively and beneficial.
C

e oY freerd gRT Smifor TR $ T, Foilg iR TSR §1 ST TN H1 a1eg|

Teachers have to live up to learners' expectations and set an example by their own behaviour.
D

Rigrent 1 g Bt sramel TR TR IHRAT F SR 30 TGER Y T IR VG FH3AT1 EhTT|

Correct Ans : B

Subject : Child Developement

Q.No: 145 Among the given list of S-R theories, identify the one which gives more importance to the reinforcement.

2480291
S-R Rrsidl &1 7 & ¥ ¥ 39 Rigid $1 v i S vaad 9 sifie med &t 31
Pavlov's conditioning theory
A
uraea &1 Srferan fisia
Skinner's theory
B
R o1 Rraia
Watson's learning theory
C
qree 1 it Rigia
Guthrie's learning theory
D

T 7 Sft Rigia
Correct Ans : B

Subject : Child Developement

Q.No: 146 What should not be the quality of a pre-instruction test taken to test the readiness level of the students for a particular topic?
2480333

A. It previews the upcoming topic.

B. It must help the teacher to make instructional decisions regarding the strengths and weaknesses of the students.

C. It must test the students' knowledge of the last topic.

D. It must determine prior knowledge of the students on the topic.

it a2y fawa 3 e oE & 9o & TR 7 wem w33 & o & 71 yd-FEw aften B qorawr g € R wfwe
A. g Tt fawe &7 gaiaaie &=l g

B. 7% g5 &1 o1 3 a1 SR FHeIRAGT & oy F e Fofa 39 § neg St Ay

C. 34 Sifcw fawa & BE & I BT We0r BT AT
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D. T¥ fowa R BFET & qd 99 &1 FufRor s e

A and B only
A
Fada A IR B
A, B,CD
B
A, B,C D
B and C only
C
FaaB IR C
A, B, C
D
A, B, C

Correct Ans : C

Subject : Child Developement

Q.No: 147 Which of the following statements is incorrect with respect to the theory of Karl Rogers?

2480338
e Ao & Rygia & Yeiy # Fafifad & J S-91 S 7ed 82
Experiential learning addresses the needs and wants of the learners
A
SgHaTEe it Rt ot sl AR el B Gafa Bl 3
People learn from one another through observation, imitation and modelling
B
AR TP G  Siaaiie, SRl SR Hisfei & wum 3 dad §
Learning is facilitated when students participate in it and have control over its nature and direction
C
e 1 gRwn ad St § 9 o 79 U A § 3R St vl o fer w Ry v §
Learning is of two types cognitive and experiential
D

e & THR T Tl 3, SIS SR STHIES
Correct Ans : B

Subject : Child Developement

Q.No: 148 The understanding that another viewpoint for a particular thing or situation can also exist, develops at which stage?
2480734

it ot fie o1 RS & fow v sy =i oft Aigg 81 9o @ & a0 {59 wur R faafid g 82
Early childhood

A
TRfYE AT
Middle childhood
B
A AT
Infancy
C
BNGEaG]
Adulthood
D
qgEpdl

Correct Ans : B
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Subject : Child Developement

Q.No: 149 Which of the following does not affect the social development of a child?

2480843
frafafed § @ S57- W aae F g e S wafad T8 a2
intelligence
A
=
Language use capability
B
HTST TRART ST &
reasoning
Cc
RERUES]
None of the given options
D

fag e feedt # & #1S TE1

Correct Ans : D

Subject : Child Developement

Q.No: 150 Mother is known as first teacher of ?
2480881

wiB % ugd Rieis $ EU H o1 o §

Child
A

=

Father
B

foram

Relatives
C

Rezdert

Friends
D

I

Correct Ans : A

Subject : Child Developement
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